(2) 20184E HESESAAXIBHE ML HA

(Ehel : Hel
2017 2018 Z=ZH(B-A)
2 B = oxtEA | o of A & & o4 o (Tl g)
(A) (B) U= | H[E(%)
g A 2,647,985 | 2,935,200 287,215 11
AldEel | Al e = A 921,597 | 901,619 |- 19,979 | - 2
INSE] 33,160 20,325 |- 12,835 | - 39 |Ri2tAll 2 ELR| 2| 20,325,000
Mil)\ngm 192,717 | 193,176 459 0 ;}Amtgg%gaMn%A} 235,200 *35W «127H 2 =| 98,784,000
colEE T M| AAY 256,200 *30W «127H2 =| 94,392,000
Xt?fff:cf 181,168 | 219,070 | 87,902 21 [2EE0l0Z 2&6% =| 3,000,000
(20184 ofEH) o|&~8&/ = 36,000,000
EEMER 48,000,000
£520o} =| 24,000,000
S DRRRIAIE MIE 12,000,000
HolFE (CU) 48,000,000
2| (GS) 48,000,000
off =% 0| X} =FlE 10,000
RIESE= 10,000
(20181 off &M 0| X}) CEMER 10,000
&80} = 10,000
DARIMIE ME 10,000
HolHM(CU) = 10,000
HolXM(GS) = 10,000
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418,727

426,213

(chel @ 9)
2714 =| 49,026,160
o|&2% =| 16,000,000
EEMESR =| 38,215,031
£m2of =| 13,819,822
HolHE(CU) = 7,380,000
™ =) 29,398,339
HlO|35HRA =| 39,148,225
M QEMEF =| 84,706,250
ERHS = 1,800,000
o|&2&F = 12,000,000
EEMEF =| 14,000,000
&0 = 1,600,000
[EREIIAIE M|E = 7,200,000
HolH(CU) =| 14,000,000
HolF(GS) =| 14,000,000
ERUS = 600,000
AR = 4,600,000
EEMER = 4,500,000
&30} = 550,000
[EXRIIAE ME = 2,400,000
HO|FE(CU) = 9,600,000
HOIE(GS) = 9,600,000
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il 5t = PYEF! of At & E (etel @ &)
(A) (B)

ERHS 10,000

ojAERF 10,000

CEMER 10,000

&80} = 10,000

FRARIIAIE ME 10,000

HolF™(CU) 10,000

2ol E(GS) 10,000

ERHS = 600,000

IES=- 4,600,000

CEMER 4,500,000

&30} = 550,000

[RRRIIAIE ME 2,400,000

HolFE (CU) 9,600,000

Ho|H(GS) 9,600,000

&0 = 552,900

ERHS 4,000,000

CEEMER 4,500,000

&y 3,761,330

2R 4,600,000

HolF(CU) 2,460,000

X| KHx] 9| E 274,500

95,824 42,835 9 ERUSE = 5,000
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o & = oxtEd | o & (Shel @ @)
(A) (B)

LIES= 5,000

CEMER 5,000

&m0} = 5,000

S RRGIIAIE ME 5,000

HelE(CV) 5,000

H ol X (GS) 5,000

ERHS = 200,000

I EN= 2,000,000

EEMNER 9,700,000

&0 = 6,150,000

FEREIIAIE MEH 1,000,000

HolF(CU) 1,000,000

HolH (GS) 1,000,000

ERHS 450,000

2R 1,400,000

EEMER 1,400,000

&30} = 1,400,000

SDIRIIAIE M EH 450,000

HolFE (CU) 450,000

HolE(GS) 450,000

ERHS 300,000

DAEF = 2,000,000




2017 2018
o E =1 A =4 off & o (e )
(A) (B) (%)
CEMER 2,000,000
&mZot = 2,000,000
SERRIAIE ME 1,000,000
HolFE (C) 1,000,000
Ho|H(6S) 1,000,000
T FAEYoigolE ol = 2,450,000
EFUS 2,000,000
CEMER 2,000,000
1,597,710 | 1,926,523 21
1,587,770 | 1,918,123 21 |HE|2HExZ IEIA=70:9:21 =| 241,812,000
il”;*g%%éwalgal g I IA|=70:9:21 31,500,000
AtgtAatd el Ex g (E1A[=70:9:21 27,428,000
Rret et shx| 2 At 25,000,000
= b= ME iz x|z 10,800,000
?Egiﬁféﬂ:m) ZHE X2 136,400,000
Apghate| 22l (gateway) 150,000,000
FEAIAE MIE 150,000,000
&m0} =| 100,000,000
EFHEAY 150,000,000
AR 150,000,000
HolF(CU) 130,000,000
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= 2A x4 of At )
(A) (B)
ol (GS) =| 130,000,000
MOEMIEL =| 100,000,000
EEAMEF =| 153,600,000
Al At 220,036,000
SHAIE Q14| =| 11,547,000
EYNpNEN = NI ="
EExZ 9,940 8,400 (’;ﬂ;)}TC’ ld=z3 (E:Al=20:80) 8,400,000
EA | 19,486 25,560
) CHAo{gls SR 2 04M7 o
HEZ 19,386 25,060 ,éll ,d%ﬂi'q%ﬂﬁ a7t 700,0008 +5 3,500,000
st 2™ Ct227 e ol d o 2
AR A | 200,000 =127 & 2,400,000
wzlolel Bol g ol vl 2
2«67
ol 25 20,0002 67H 120,000
gzlolel Joll s o
i 2+67 ,000
oz 26 20,0002 «67H 120
KTaGE XMt AR 2 ol 4104 1 5
| x| 2l Alod 1,000,000 % 123 «135] 1,000,000
KT&G=XI A oF S =THH S 100,000 x5 600,000
SR ALY EETRe ’
OfSCt2AM Th AlelA 300,000 +8H =
A 150,0008l g =| 600,000
OSCHRMEtI Sty IS of 42
I x| 2l Al 2,040,0002 3% 6,120,000
HiEo|Lts oM IHEHZI ol x109 515
MG x| 2 AS 1,000, 0002 1% «13] 1,000,000
5 A FX| 2 _
(;E(HC’IHEF Azxl A 3,000,0002! 13«13 3,000,000
=
Zdosezd 50,0002 123|624 3,600,000
HIX| Y E=2lZ 100 500 HIZ Y ZE2Z AztZAF 500,000
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2017 2018 =7H(B-A)
2 3 = 2Rt =4 off & of & & &= uf o (zel @ f)

(A) (B) o= | HIE(%)

AtekAte 22| (gateway) = 20,000

FEXRIIAIE ME = 20,000

&QZot = 20,000

SRS AIY = 20,000

oa~E2RF = 20,000

Ho|F(CU) = 20,000

HelH(6S) = 20,000

A OEA|EF = 20,000

CEMER = 20,000

A Mol | = 10,000

7| Etof Fo| At x| ES7HMAY = 20,000

7| EbE =2 500 400 100 | - 20 |7IEtRSE 400,000




